Chapter 1
The Economy and Market

___ Read the following text and answer the questions

Factors such as personal income, interest rate, money supply, credit policy,
taxes, and general business activity all can affect demand in different
industries and individual firms in different ways. Although varied from
industry to industry, it is commonly true that the higher the personal inco-
me, money supply, or business activity the higher the demand for goods
and services. The reverse is true for higher interest rates or taxes. Further-
more, demand is highly susceptible to the fuctuations of the business
cycle; higher demand usually is accompar.iea by inflation, and lower de-
mand occurs during recessions.The nature. s‘1ncture, conditions, and be-
haviour of the market can significaryy aetermine the demand pattern.
From the point of view of the firn:, ihe iarger its market share the more
accurate its predictions for demand, Fecause it can exert more influence
over its competitors in efforts i¢ sustain or increase demand. Also, the
demand pattern in the segmented market can be quite different from that
of the unsegmented one. eiand for a product may be segmented by
brand/ price/ quality dist:ectons or by geographical distinctions. The geo-
graphic differences tatwcen domestic and foreign markets, or northern
and southern markets, require quite different approaches to their demand
estimates because of cultural preferences of customers.

4

: ,,Comprehension Questions

1. "The reverse is true for higher interest rates or taxes." Explain this sen-
tence in relation to the context.

2. How are the economy of a country and its market interrelated? Give
evidence from the text.

3. Which economic situation is more preferable for the labour: inflation or
recession?

11



PART ONE: BUSINESS LANGUAGE COMPETENCE

Word Study

12

Money supply (monetary stock): the quantity of money issued by a
country’s monetary authorities (usually the central bank)
Susceptible to something: easily influenced or harmed by something
Business cycle (trade cycle): the process by which investment, out-
put and employment in an economy tend to fluctuate up and down in
aregular pattern causing booms and depressions, with recession and
recovery as intermediate stages

Exert: apply something

Segmented market: a market where there is a restricted contract
between different customers or different suppliers (if different cus-
tomers either do not know what prices others are paying or are
unable to resell goods and services to them, it is possible to discri-
minate in the prices charged or level of services offered to different
parts of the market)

Brand (brand name): a trade name uses 0 identify a specified
product, manufacturer or distributor

/ ____ i 2 Tasks

Choose the correct alternative an:ong those given:

Factors such as (a. personalize. o. nersonal, c. personality) income, interest rate,
money supply, credit policy, texes, and general business activity all can affect
demand in different indusiricc and (a. individuality, b. individualize, c.indivi-
dual) firms in (a. different, b. difference, c. differentiated) ways.

Although varied from industry to industry, it is commonly true that the higher
the personal income, money supply, or business (a. action, b. act, c.activity, d.
actor) the higher the demand for goods and services.

The nature, structure, conditions, and behaviour of the market can (a. signify,
b. significant, c. significantly) determine the demand pattern.

From the point of view of the firm, the larger its market share the more (a.accu-
rate, b. accurately, c. accuracy) its (a. predict, b. predictable, c. predictions) for
demand, because it can exert more influence over its (a. compete, b. competi-
tion, ¢. competitive, d. competitors) in efforts to sustain or increase demand.
The geographic differences between domestic and foreign markets, or north-
ern and southern markets, require quite different approaches to their demand



CHAPTER 1: THE ECONOMY AND MARKET

(a. estimate, b. estimates, c. estimations) because of cultural (a.prefer, b. pre-
ferences, c. preferable, d. preferably) of customers.

Find the appropriate correspondences of the following sentences and the
words given below. Fill in the gaps with the right word:
budget, upkeep, maintenance, economy, thrift

Careful control of money, possessions, etc. Her........... with her money,
allowed them to have a really good holiday.

The act of keeping something repaired and in order. He spent time on the
........... of his house.

The cost of keeping something repaired and in order. The ........... of the
house is too much for me to pay.

The plan of how to spend money. It’s a weekly...........

A plan of how much money to take in (as by taxation) and how to spend it.

The government . .......... never gets smaller.
Formal synonym of upkeep. The ........ .of the house is more than I can
pay for.

An example of the careful use of money, tinie, strength, etc. He practised
........... all his life and died a rict ;nen.
It'san)........... to buy good shoes because they last longer.

Join the following sentences:

Some cheques are cashed

When you take out an insuaranie policy
Banks discount

Can a bank’s customcis

Money and valuables should be kept

obtain loans from any one of the bank’s branches?
or, to put it differently, paid over the counter.

you have to pay regular premiums.

in a bank’s vaults.

bills of exchange and drafts.

&
‘a P roblem-solving A ctivity

To what extent is religion a crucial factor for the demand pattern? Give
positive and negative examples.
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Chapter 2

Marketing Economies

___Read the following text and answer the questions

There are many ways in which the marketing of products can lead to cost-
cutting and more economic working. For example, a large firm usually
distributes its products to regional depots, serving a natural, and managea-
ble catchment area. There are huge economies to be had in the "in-plant"
printing field. For example, Debenhams need 30 million tickets for label-
ling displays in their shops every year, and have found that by setting up a
specialist department they can streamline the cre2:'on of attractive notices,
price-tickets, etc., and at the same time achieve x vseiul uniformity throug-
hout the group. Such uniformity also achieves good control of displays
from the legal point of view, for example to «nsure compliance with rules
about consumer credit, pricing of items iu szies, etc.

Packaging can often achieve econoniics, for example the package in
which children’s toys are marketed can, if properly designed, be part of the
display material, drawing attenuion o ine product, its price, etc. The mere
display of the package is effect! ve :iore promotion, without any need for
specialist display notices ¢~ vvii:Cow dressing.

4

7_,,_,C0mpreh ension Q uestions

1. How can the marketing of products lead to cost-cutting and more eco-
nomic working?

2. How can packaging become cost-saving?

Word Study

Depot: a storehouse for supplies; warehouse
Catchment area: area from which people/goods are sent to a parti-
cular school, place, etc.
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CHAPTER 2: MARKETING ECONOMIES

b.

Word Stud, | 4 (continued)

Streamline: make something more efficient and effective, e.g. by
improving or simplifying working methods

Uniformity: unvarying, not changing form or character
Compliance with: action in accordance with a request or command

/ _;LJ : Tasks

a.

Find what these words from the text mean by choosing the correct alternative
among those given:

depot

a) expatriation b) storehouse c) derogation

catchment

a) area where people are arrested,

b) the act of catching or collecting,

c) the area from which people are siiccated to a particular school, hospital,
etc.

setting up

a) establish b srouuce C) arrange

streamline

a) make more efficient by sinmlifying,

b) diversifying from; the wwiong direction,

c) following the majoiitv

uniformity

a) uniqueness b) dissimilarity c) homogeneity
displays

a) disarrange b) demonstration c) disposal
compliance

a) extreme self-satisfaction b) combination ¢) conformity

Decide on the appropriate title of the following extract:

Every day a lot of trading takes place and huge sums of money are moved
around the world. However, relatively few investors seem willing to make
long-term commitments to foreign markets. There is remarkably little interna-
tional diversification of portfolios — that is, Americans are rarely stockholders
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PART ONE: BUSINESS LANGUAGE COMPETENCE

of foreign companies, and conversely. Estimates suggest that more than 90
percent of the value of stocks owned by American residents is still in Ameri-
can companies; the same is true of Japanese and European investors.

Perhaps because there is so little international "cross-holding" of stocks,
world stock markets do not necessarily move together. This was illustrated
spectacularly from 1990 to 1992, when the Japanese stock market — which at
its peak was worth more than the U.S. market — began a prolonged slide. In a
closely integrated capital market, one might have thought that such a huge
decline in what was at the beginning the world’s biggest market would drag
down other markets as well. Yet in fact stock prices in the United States and
Europe actually rose over the same period.

c. In most lines of the following text, there is one word which is either gram-
matically incorrect or does not fit in with the sense of the text. For each
numbered line 1-7, find this word and correct it. Some lines are correct.
Indicate these lines with a tick (v'):

1. When a man has shaved (or put by) some monevy, I 2 can deposit his savings

2. with a savings bank. A low - rate interest is u:isuaily allowed (or paid) by

3. deposits. If a man wants to invest large sinis. instead of keeping the money in

4. his treasury, he will buy shares (stocke in the U.S.A.) and bonds (or deben-
tures),

5. baring the common name of securitics. They are bought and sold on the stock

6. exchange through brokers. Sowic people favour save investments (e.g. gilt-
edged
7. securities), while others pi+fei irore risky speculations.

d. Readthetext below. Choosethe correctword A, B, or Cto fill in each gap. For
each gap one letter is correct:

Great Britain — Government

The (1)........... of the (2)........... of Commons are (3)...........
over by the (4)........... Parliament accepts or rejects the (5)...........
proposed by this government. After it had passed (6)........... the two
(7)) R a(®)........... becomes a(n) (9)........... of Parliament.

The two major parties are the (10)......... Party and the (11)...........
party. The political party with the largest number of (12)........... forms the
Government. Its (13)........... becomes the (14)........... and he choo-

ses the members of his Cabinet. They are the heads of the Government Depar-
tments.
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CHAPTER 2: MARKETING ECONOMIES

. seats

. Residence
. presided

. Spokesman
bills
between

. Residences
bill

Act

. Republican
Left

seats
leader

. Chancellor
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‘é P roblem-solving A ctivity

e ol e e e A I

sittings
Home
directed
Speaker
laws
over
Homes
law
Action
Conservative
Working
sittings
head
President

o000 n0n0nan

chairs
House
presidented
Speechman
rules
through
Houses

rule
Activity
Preservative
Labour
chairs

chief

Prime Minister

Is it more economical to have an i -plant marketing department or to
cooperate with promotion offices ¢xternal to your company? Explain the
advantages and disadvantages c?* czon.
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Chapter 4 7

Macroeconomics

[Extract from: Blanchard, Olivier. 2002. Macroeconomics. Prentice Hall]

Budget Deficits, Output and Investment

Let’s summarize what we learned about the effects of fiscal policy in
this section:

In the short run, a budget deficit reduction, if implemented alone
(that is —and note the stated qualification— without an accompanying
change in monetary policy) leads to a decreas. in output, and may lead 5
to a decrease in investment. What is neede 15 for the central bank to
decrease interest rates enough to offset the 2. verse effects of the de-
crease in government spending. The 72 iniade sure that even in the
short run, deficit reduction did not le~i to a recession and to a decrease
in output. In the long run, a lower hudzet deficit leads to higher inves- 10
tment. Higher investment leads /¢ 2 higher capital stock, which leads to
higher output.

Everything we have just said about the effects of deficit reduction
would apply equally to ru>2sures aimed at increasing private saving.
Disagreements among «ccromists about the effects of measures aimed 15
at increasing either public saving or private saving often come from
differences in time frames. Those concerned with short-run effects wor-
ry that such measures may create a recession and decrease saving and
investment for some time.

Changes in the Price of Oil

In the 1970s, the price of oil increased dramatically. This was the result 20
of the formation of the Organization of Petroleum Exporting Countries
(OPEC), a cartel of oil producers. Behaving as a monopolist, OPEC
reduced the supply of oil and, in doing so, increased its price. From
1982 on, however, the cartel beca me unable to enforce the petroleum
quotas it had set for its members. Some member countries started to 25
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PART TWO: BUSINESS TERMINOLOGY

produce more than their assigned quota, and the supply of oil steadily
increased, leading to a large decline in the price.

The Dynamics of Adjustment

In 1974 and 1975, GDP growth was negative. In both 1974 and 1975,
inflation (as measured by the rate of change of the GDP deflator) was
higher than the year before. This combination of negative growth and 30
high inflation —which was baptized stagflation— came as a surprise to
economists. Like shifts in aggregate demand, shifts in aggregate supply

can come in many forms.

Conclusions

We looked at the effects of a monetary expansion, of a deficit reduc-
tion, and of an increase in the price of oil. The main results are summa- 35
rized in Table 7-2.

This chapter also gives you a general way of *huxving about output
fluctuations (sometimes called business cycles) -- nc vements in output
around its trend.

The economy is constantly buffeted b shocks to aggregate supply, 40
or to aggregate demand, or to both. Thece shocks may be shifts in con-
sumption coming from changes in ¢oncumer confidence, shifts in in-
vestment, shifts in portfolio bebavicr, shifts in labor productivity, and
so on. Or they may come from :nanses in policy — from the introdu-
ction of a new tax law, to a revv 1, 7ogram of infrastructure investment, to 45
the decision by the central »«nk 10 fight inflation through tight money.
What we call economic fluctuations are the result of these shocks to and
their dynamic effects on output.

A l/ocabulary B uilding %

Find words or phrases in the text that mean the following:

1. aipeon («omd Vv aipeon OTL.») =...........
2. AxaBdpioto Eyydpro Ilpoiov=...........
3. avantuén (AEIT pog xdpog 1 ouovopuk®v Heyedmv pog emtyeipnong) =
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CHAPTER 47: MACROECONOMICS

L XASWM

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
3S.
36.
37.
38.
39.
40.
41.
42.

OLOKVUAVGES = . .. oo ven ...
EMEL (OTKOVOUIKO) = ..o
EMEVOVGEIG = ..ot

EMTOKIO = . ..........

KOTOVAA®ON = ... ........
KOTOVOAMTIKY EUTIGTOGOVI| = ... ... ...

KEVTPIK)

tpamelo (Yevikd) = ...........

(Wéom) ton=...........

LETOYKO

KEQOAOO = .. .........

LOVOTIMOAL0/ LOVOTTOANTNG = . . . . .

VOMUGHOTIKOG = . . oo e et

OIKOVOUIKOG KOKAOG = . ... .. .

OLKOVOLOAOYOG = . ... ... .. ~

Opyaviopdc [etperaosivenakav Kpatov = .. ......
mopay®yn (g TapayOLava TPoioOv/EPYO) = . ... ...
TOPAYOYIKOTNTAG TNG & vaolog = . ..o v et ...
TETPELOO = . ... .. .. /

nivakag (AmewoOvions SToyelov) = . ..........
Tnbopopudés =...........

TOMTIKY] (EMOIOKOUEVT CTPOUTNYIKN) = ..o et
TPOGOPUOGTIKY] pOOUION = ... ... ...

TPOGPOoPa (Tpoidviwv/ayobov) =...........
TPOVTOAOYIOUOC = . .o oo

OTOGILOTANOOPIGUOC = . .. ... ...

GTEVOTNTO YPNUOTOC = . oo v

GVVOAO/GVVOMKAC (KTOC AOYIOTIKMOV KOTAOTACEWMY) =
T (ayaBod) =...........

VITOOOMEG = . ..o vvn.. ..
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PART TWO: BUSINESS TERMINOLOGY

43.
44,

B Clarijj;ing T erminology and Expanding Vocabulary

YOPTOPUAGKIO = .. .........
YPOVIKOG opiloviag =...........

Distinguish between the following terms in context:

1.

10.

11.

252

aipeon («umd ™V aipeon OTL.») = ........... 2 OpNoKELTIKN aipeoT
e Z QPECIHOTNTO = . veveeeeeannns.
AxaBdaproto Eyyopro Tlpoidy = ........... # Axabdapioto EOvikd
[Mpoibv=...........

avantoén (AEIT pog xdpag 1 owovopikav peyedav pag emyeipnong) =
........... 2 avaTTLEN (EMYEIPNONG, YEVIKA) = ..ot
# avantoén (Tpoidvtog) =...........

OTOTOUIEVOT = ..o #£ KOTOOEo = ...
ONUOCIEG/KPOTIKES dOmMAVEG = . . ... ... ... = AS1TOVPYIKEG dambvec/E€o-
da/kootn (emuyeipnong) = ........... # smAEEneg dambveg =
........... = damaveg/EEoda (YeEVIKA) = .. ... ... ..

OKVUAVOELS = .o oveeennnss Z£ KOUOTVOLEVO ETTOKIO = .. eveveee. s
EMepa (owovopkd) = ... ... .. 7= EMeupa/EAdeyn (yevikd) =
EUTIOTOGUVI] = ..vtvreen oiiin an # miomn/mictwon (tpanelikn) =
...................... # EUTASTEUCTUOTNTO = o veteeeeeeeenaenannss
# EUMIGTEVTIKOTNTO/ OO TN = o vvvvvvt . # pepeyyvdmTa/0é10-
motio (yevikd) = ... .. ... £ pepeYYVOTNTA (TICTOTIKY) =
EMTOKIO = ..vveveienennn.. Z TOKOC = .\oveieeiannnnn. # OvoTo-
KIOUOG = . ..ennn... = OVOUOOTIKO EMITOKIO = . ... ... .... 2 TPOLYLLO-
TIKO emtokio (peiov mAnbwpiopud) = ........... £ OMOTELEGUOTIKO
€TNGo10 €MTOKIO / ETNG10 1000VVAHO EMTOKIO (cLVVTOAOYILOVTaG OVOITO-
KIOHO) = ..ovnnn. = 6VVOMKO €To10 Tpaypatikd emtokio/ZEIE
(ovvvmoloyilovtag mepiodo yapttog /Kot 5000 davEiOV) = ... ... .....
kaBoplopévo m060oTd (ToGOoTIKO EMIMESD) = ... ... ... .. # TOGOGTO
(yevikd, petpoOUEVO €Ml TOIG EKOTO) = . ovvvenrenennnn... #£ «TOIG Y-
Moy /%o=...........

KevTpikn tpamelo (yevikd) = ........... # 1 Evponaikn Kevrpikn
Tpomelo = ........... =% 1 Apepiwcaviky Opoomovdtakn Tpamela (n
kevipkn tpdmela tov HITA) = ............... ...,
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12.

13.

14.

15.
16.

17.

18.

19.

20.

21.

22,

23.
24.

(Léon) TAON = .. eveee e 2 UEGOG OPOG (YEVIKG) = ..o ieieaaant
= néon T (LeTafANTC) / apOUNTIKOG LEGOG = .\ ovvveeeeeenen. s =+
OLAUECOG (OTOTIOTIKN) = o vveeveeeeeenss # EMKPUTOVGA TIUN (OTOTL-
OTIKT) = ttteeeiiiieeeanns # UK amOKMoN (OTATIOTIKY) =
.......................... # dlaomopd / drakvpavon (detypotog) =
................... #£ EKTOTN/EKTpOTTN TIUN (OTATIOTIKY) =
................... =% TPOGIOPIGUOC/VTOAOYIGUOG (LB C) ThoNG =
Hetoykd kepdiowo [AmE] =........... £ uetoykd kepdaiato [BrE] =
LOVOTTAOAO/LOVOTTOANTIG = .o oo et % LOVOTOAOKO KOOEGTOG =
VOMUGHOTIKOG = .o o eveeeeeaeennes £ YPMUOTIKOG = oo
Topay®yn (¢ mopayOUeEVo TPOIOV/EPYO) = ........... % TOPAYOYN
(¢ d1adkacio TOPUy®YNG) = ..o v v .. .. \

nivokog (AmEWOVIONS GTOWEIOV) = .. o cvieeennn. = mivakog (po-
ONUoTikd) = ..ol 2 TVOKGS (CYOMKOG) = ..o
Z OWYPOLLLOL = oo eeeeieeeeeee e o £ opyavoypopupa (extyeipn-
ONG) = o eeeeeeeieeeeieaenns "G

TOMTIKY] (EMOIOKOUEVT] CTPOTN ) = o e e e v vvn Z# TOMTIKY] (TOL KOl-
V) =...........

TPOGPOPE (TPOIOVTMV N &YGEDY GTNV OYOPd) = ..ot =+
TPOGPOPA (OIKOVOLIKT, YEIKA) = ..o vvnn ... % TPOGPOPE. (OIKOVOLLL-
K1), GE OLLYOVIGUO) == . ... ... ...

OTEVOTNTO YPNUOT . = oo ... # TOGOTIKN YoAdpwon (Vopucuatt-
KN =.eeernnn..

6VUVOLO/GUVOMKOG (KTOG AOYIOTIKMV KOTACTAGEMY) = .o vvvereennnn..

= 6OVOLO/GUVOAIKOG (€ AOYIGTIKEG KOTOOTOGEL) = . ovvveeeeeeaannn.
# 6OVOAO (LobnuoTkd) = .. .........

Ty (ayabod) =........... = ru/a&io (LeTaPINE) = oo v et
VPECT = o voveeieeeinenannns FMTOTNTO = .ottt aeeenenn,
QPOPOC =i Z EPOPIOL = ..ot

C U seful Coltocations !

Provide a word or phrase to form appropriate collocations:

1.

avTioTaOuilm emnTOceEc = .. ........ effects
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PART TWO: BUSINESS TERMINOLOGY

2. av&Ave omOTOUMEVCES = .. . ..o .. savings
3. avflvo emtoklo=........... interest rates
4. emPBaAl® TOGOGTA = ... ........ quotas
5. epappdlo moMmTkn =........... a policy
6. xafiépwon véov vopov =........... anew law
7. xoBopilw mocootd =........... quotas
8. «xotamoiepd Tov TANOOPIOUO = ... ... ... .. inflation
9. HEIOVO EMEIUUOL = ... ... ..... deficit
10. peovo emtokiol = ........... interest rates
11. petoafoAlo Ty =........... price
12. petpo TAnboplopd =......... .. inflation
13. odnyd cevpeon=........... a recession
14. ovvoyilw arotehéopota =........... results

D F rom T erm to T ext ’1

Translate the above extract into Greek:




